
𝐴 2800 𝑘𝑔 𝑡𝑜𝑤𝑒𝑟 𝑖𝑠 𝑠𝑢𝑠𝑝𝑒𝑛𝑑𝑒𝑑 𝑜𝑛 8800 𝑘𝑔 𝑏𝑟𝑖𝑑𝑔𝑒. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐹𝑜𝑟𝑐𝑒 𝑜𝑛 𝑒𝑎𝑐ℎ 𝑃𝑖𝑙𝑙𝑎𝑟.

    𝜏௖௖ = 𝜏௖ + 𝜏௖

  𝐹ଶ𝑑ଵ = 𝐹||𝑔 + 𝐹||𝑔

𝐹ଶ(1) = 8624(4) + 2744(3)
      𝐹ଶ = 53704 𝑁 𝐹௚ = 𝑚𝑔

𝐹௚ = 880(9.8)

𝐹௚ = 8624𝑁

𝐹௚ = 𝑚𝑔

𝐹௚ = 280(9.8)

𝐹௚ = 2744𝑁

          𝐹ଵ+𝐹ଶ = 𝐹௚ + 𝐹௚

𝐹ଵ + 53704 = 8624 + 2744
               𝐹ଵ = 6027 𝑁

𝐴 280 𝑘𝑔 𝑡𝑜𝑤𝑒𝑟 𝑖𝑠 𝑠𝑢𝑠𝑝𝑒𝑛𝑑𝑒𝑑 𝑜𝑛 880 𝑘𝑔 𝑏𝑟𝑖𝑑𝑔𝑒. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐹𝑜𝑟𝑐𝑒 𝑜𝑛 𝑒𝑎𝑐ℎ 𝑃𝑖𝑙𝑙𝑎𝑟.

280

880
3 𝑚1 𝑚4 𝑚

𝐹ଵ
𝐹ଶ

     𝜏௖௖ = 𝜏௖ + 𝜏௖

    𝐹ଵ𝑑 = 𝐹||𝑑 + 𝐹||𝑑

𝐹ଵ(8) = 8624(4) + 2744(3)
      𝐹ଵ = 5341 𝑁

𝐹௚ = 𝑚𝑔

𝐹௚ = 880(9.8)

𝐹௚ = 8624𝑁

𝐹௚ = 𝑚𝑔

𝐹௚ = 280(9.8)

𝐹௚ = 2744𝑁

The pivot force is not 
considered in this 
calculation

          𝐹ଵ+𝐹ଶ = 𝐹௚ + 𝐹௚

5341 + 𝐹ଶ = 8624 + 2744
               𝐹ଶ = 6027 𝑁

𝑈𝑠𝑒 𝐹𝑜𝑟𝑐𝑒 𝑃𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 𝑡𝑜 𝑏𝑒𝑎𝑚

C=CC

Up=Down
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𝐹ଵ 𝐹ଶC=CC Up=Down
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